EARAROBEEIERT — 2 N— IBISH —F

201553880 (H) 22M@11A&E6H

msﬁ—1 O#8 Yo% 3% ‘[fﬂi] 5 ‘[?éiﬁ%lasﬁ] — | & (&) 13000 &
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S LA S # 3 | WO 1:27.2 1-1-1-1 | 40.5| -— 2 463 | ABRE (1£H)
1155 NI TY) 56.0 (—) (-12) | FF .
LT RIANYT vy B:F5ZX51 1 E3tie ]
5 6l vrnEFTYY # 3 gﬂ*éﬁ 1:27.5 5-6-52 |40.2| — | 7 | 449 iigﬁ‘é )
. 11/2 i
QFA—TRAA BiAYI T ) #9 | GxkT > 1
slzl7| =1z T—0 # 3 56?:;%5( 1:28.0 2-2-2-3 |41.2| — | 3 | 478 %Qi?& (1=5)
. 21/2 i
LHYIRT4 TR B:RI¥Fy/O-X ( ) (+8) 535 Kikis
R 4t 3 | AER—E 1:28.7 3-3-3-4 |41.6| — 1 491 | JIIEZEEF (1£H)
1IX<A >R 54.0 ) (-g) |TAMARELE
LY S ANRAY R B IXFT7 /) — &E E
# 3 | WHARF 1:29.0 6-5-6-5 | 41.4| — 4 454 | EBTRE (£E)
ATYFY R 54.0 (11/2) 10 | UFRF
RHLYST RV BRYARH RS FH OUF
S—TAF 4 — I 3 5*‘01’% 1:(29).2 4-4-4-6 |42.0| — | 6 | 448 ﬁ%iﬁfn’ﬁ)
. 1 o = HZE7a
R:7RY4¥aAV—> B:IZRE1FIUR (=3) KA
MEIRRRASE 4 3 ﬁﬂg‘ﬁt 1:32.0 7-7-7-7 | 43.9| — 5 446 ﬁ%gﬁ(ﬁg
. 244 RERR
LY LTAN=t B:FTNL a2 ( ) © kiéﬁiia;
@ 1 — S —EBIEf
13—7+— 5,7,4,2,6,3,1
A== 5,7,4,2,3,6,1
Jol=5r= 5,7,4,2,6,3,1
43—F— 5,6,7,4,3,2,1
[ N3
BB 5 420M 74K 5-6 800M B & 5-6 3,940M 3EHE 5-6-7 3,800
8 B 5 200M Sl 230M B E 5-6 6,010M K31 5-6-7 21,730H
6 1,290 6-7 1,010

ABICOVWTRDTEEERROODE. TR LIV,




